7> Hh—BER

RoHS$E ¥ G M

D-EI D-EI-ST

—H/EZLLTHHWERTE
7?V¥ AP —TT,

=@y A—FuBES

Fikikrdily
AR

500kgf[D-EII] 1,000kgf [D-E T -ST]
'I'\llz FeFv bk SS4001‘ =]
3 m SSEIESMMR (2t [D-EL])
(3t [D-EI-ST])
=@y A—+F

i i &
# B

REALE

| k=3 &

DZMmERIL FOETEIID-AL R, Z2MIZARIL DT
HBRrEANT, 7y FEEATIEEIZHE>TWVET,

@7 vhH—RIL FMTESICEETEET, 7oh—RIL
FEFERALTLESL, (FrA—HRIL M2 x 7015158,
HICUHTHEEZLTLEY)

@7 vA—RIL FHEORIFIAZYTYT, 23YDTH—

COTWBET7 Y A—WEY A 7D

F—IVRATU LA

PR

“!‘I'iIIIilr‘p‘ii‘ii‘ll.l'OIFI!PP“!'\‘I

it # = 500kgf
# = ‘I'\}L k=Fw bk SUS304+B 4
x m SUS304£f#k (2 t)
REME NI AR—|
mE &

DarvRy—p, EHMREIT B EEISELTLET,

QOHWIESNT B L ZCREBZFESBE. REROFERIC
EoT. EHIKBUEThEZRCTHBELDHDYET,
ZDEATEFEREINDERDTT,

AL b ETHEALCEEN, 12x70& Y

BURL RERE GEECERS - I

PEHHEE A, T -5
Xht(i@iﬁbs §’$‘1@§$?’0 [BHESHHAICEE A —IL2FT YL &

D-EIl 12X 50 D-EIl 12X 50SUS 8 17 19 200

65 DEN 12X 75 - D-EN12x 755US| M12x1.75 | 75 | 100 | 8 | 17 | 19 | 215

DET 12X 100 - D-EN12x100SUS | M12x1.75 | 100 | 125 | 8 | 17 | 19 | 230

D-EI 12X 120 - D-EII 12X 120SUS M12X1.75 120 145 8 17 19 245

DET 12X 125 - D-EN 12x1255US | M12x1.75 | 125 | 150 | 8 | 17 | 19 | 250

D-ET 12X 150 - D-EN12x150SUS | M12x1.75 | 150 | 175 | 8 | 17 | 19 | 270

DET 14X 130 - - MI4x2.0 | 130 | 156 | 9 | 17 | 22 | 310

DEM 16X 65 = = MI6X2.0 | 65 | 92 | 10 | 17 | 24 | 290

DEM 16X 75 - D-EN 16X 755US| M16X2.0 | 75 | 102 | 10 | 17 | 24 | 300

D-EN16%100 |D-EL 16X 100-HS [D-EX 16 1008US| M16X2.0 | 100 | 127 | 10 | 17 | 24 | 330

D D-EI 16X 130 |D-EM 16X 130-HS |D-E I 16X 130SUS M16X2.0 130 157 10 17 24 370

1 D-EI 16X 150 |D-EI 16X 150-HS |D-E I 16 X 150SUS M16X2.0 150 177 10 17 24 400

! D-EI 16X 180 |D-EI 16X 180-HS |D-E I 16X 180SUS M16X2.0 180 207 10 17 24 440

i | ] D-EI 16200 | D-EN 16X200-HS |D-E 16x2005US | M16X2.0 | 200 | 227 | 10 | 17 | 24 | 460

. D-EN20X 100 | D-EX 20X 100-HS |D-EM 20X 1003US | M20X2.5 | 100 | 130 | 13 | 17 | 30 | 510

| D-EM20X 130 |D-EM20X 130-HS |D-E I 20X 130SUS M20X 2.5 130 160 13 17 30 570

| L1 D-EN20% 150 |D-EX 20X 150-HS |D-EM 20X 1508US | M20X2.5 | 150 | 180 | 13 | 17 | 30 | 620

| L2 D-EM20X 180 |D-EMIm 20X 180-HS |D-E Il 20X 180SUS M20X 2.5 180 210 13 17 30 680

! D-EM20X200 |D-EMm20X200-HS |D-EII20X200SUS M20X 2.5 200 230 13 17 30 710

FybEA I D-EL-STI6X 65 - - MI6X2.0 | 65 | 94 | 10 | 19 | 24 | 340

—— DEI-STI6X 75 - - MI6X2.0 | 75 | 104 | 10 | 19 | 24 | 350

1] H D-EI-ST16 X 100 [D-EI-STI6X 10015 - MI6X2.0 | 100 | 120 | 10 | 19 | 24 | 385

N | D-ET-ST16 X 130 [D-E I-STI6X 130-H5 = MI6X2.0 | 130 | 150 | 10 | 19 | 24 | 425

i D-EI-ST16 X 150 [D-E [-STI6X 150-HS - MI6X2.0 | 150 | 179 | 10 | 19 | 24 | 450

120 ' D-EI-ST16X 180 [D-E I-STI6X 180-H5 = MI6X2.0 | 180 | 200 | 10 | 19 | 24 | 490

D-ET-ST16 X200 |p-E I-STI6X 2005 - MI6X2.0 | 200 | 220 | 10 | 19 | 24 | 520

KEEH A XRYETS,




